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Name:
B 11-PLUS
MATHS WORKSHEET |; SATS 2o
June 12, 2022 GEMERATOR F GCSES o
1) 860.9 - 236.8 2) 865 + (-649) 3) Share 40 in theratio 8:12
Answer: Answer: Answer:
4)  Write 9 x 104 asanormal number. 5) Findthe value of 'x' by completing the 6)  Write 0.003 in standard form.
square of the following equation: 24
12x + 20
Answer: Answer: Answer:
7) Find area of 8) Find perimeter of 9) Find area of triangle
b rectangle having . . triangle s = 981 ft . . $=308in
sidesa=316m
a andb=245m 5 s
Answer: Answer: Answer:
10) 17000+ 1000 11)  161x668 12) 11 9,-20 9
Answer: Answer: Answer:
13) 11 9,,-20 9 14) Anamount wasincreased by 3.1%to || 15)  Findthemedianof thefollowing setof dotx
$52.62. Find the original amount. 31,29, 2,19, 27, 31, 26, 29, 17, 35,
40, 27,19, 14,29, 7
Answer: Answer: Answer:

http://www.geekschool.co.uk

Copyright 2022 - Geek School Tutoring Limited


http://www.geekschool.co.uk

Name:

June 12, 2022

Sr: 12062022-2697

MATHS WORKSHEET

N 11-PLUS
Fj} SATS {f}
GENERATOR 2 GCSES T

16) Simplify 45:38 17) (4x103)/ (8x 53) 18) 729 + 27
Answer: Answer: Answer:
19) 12 x 1000 20) 7 I4 21) Find perimeter of
121 b rectangle having
sidesa=917 ft
a and b = 636 ft
Answer: Answer: Answer:
22) Find perimeter of 23) 1250316 24) Find area of square
b rectangle having having each side (s)
sidesa=917 ft s equals496in
a and b = 636 ft
s
Answer: Answer: Answer:
25) Find area of square 26) 27)
having each side (s) Find the next three numbersin Find the next three numbersin
s equals 496 in the sequence the sequence
12,9,18,15,30,2754_, , 12,9,18,15,30,27,54_, ,
s
Answer: Answer: Answer:
28)  Convert the following mixed number || 29) Mo+ 17, 30) Hox iy
56/, into an improper fraction.
Answer: Answer: Answer:
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31) (-109) + 721 32) Bx73)x(6x42) 33) (8Xx73)x (6x472)
Answer: Answer: Answer:
34) Convert the following mixed number 35) 958 - 396 36) Share 34 intheratio 19:15
6%/, into an improper fraction.
Answer: Answer: Answer:
37) 142 x 13+ 12 38) Find area of 39) Find area of
. triangles=715m s triangles=715m
s s
Answer: Answer: Answer:
40) $379.00 earning 2% compound 41) 667 x 289 42) (1x3%-(9x 8%
interest for 4 years.
Answer: Answer: Answer:

43)  Findthemodeof the following set of cata 44)  Solve14x?+8x-5=0 45)  What would you multiply by to
87,87, 87, 87,43, 43, 43, 43, 43, Round your solutions to 1 decimal increase an amount by 99%7?
43,29,29, 77,77, 77,77 place.

Answer: Answer: Answer:
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46) 'What isthe probability of rolling a 47) Find perimeter of 48) Find perimeter of
number less than 4.when rolling a < triangles=237in b rectangle having
dice sidesa= 798 ft
= a and b =595 ft
Answer: Answer: Answer:
49) 112050+ 9%, 50)  Increase 26 by 10%
Answer: Answer:
Total: /50
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1) 624.1
8) 2043ft
15) 23
22) 3106ft
29) Tlgg
36)1:33
43) 43

50) 28.6

2)216
9) 41077.316952303in
16) 45: 38

23) 3%y,

30) L4,

37

44)x=0.40r-0.9

3)2:38

10) 17

17)4

24) 246016in

31) 612

38) 221366.91852485m
45) 1.9
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Answers:

4) 90000
11) 107548

18) 27

25) 246016in

32) 1029

39) 221366.91852485m
46) 1/,

MATHS WORKSHEET

MERATOR

5) (X + 6)2 - 16
12) 1741,
19) 12000

26) 51,102,99,
33) 1029

40) $410.24
47) 711in

Sr: 12062022-2697

=

6)3x 103
13) 171715
20) 11

27) 51,102,99,
34) 27},

41) 192763
48) 2786ft

11-PLUS
SATS
GCSES

7) 77420m

14) $51.04

21) 3106t

27,

28) 27}

35) 562

42) -17181
a4

49) 14,
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